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                               MÈÔikÈ - Tape 4





So vitakka ÔikÈ - the first sentence is savitakka-savicÈrÈ dhammÈ. That means dhammas that are with vitakka and with vicÈra. That means dhammas that are accompanied by both vitakka and vicÈra. The second sentence is avitakka-vicÈramattÈ dhammÈ. That means dhammas that are without vitakka, but that are with vicÈra. The third sentence is avitakka-avicÈrÈ dhammÈ. That means dhammas that are without both vitakka and vicÈra.





Now you must be very careful. The first one is savitakka-savicÈra (those that are accompanied by both vitakka and vicÈra). When it is accompanied by vitakka, it is accompanied by vicÈra. Right? So to get both we look at those accompanied by vitakka. So 55 cittas are accompanied by both vitakka and vicÈra. What are those 55? 12 akusala, 2 sampaÔicchana, 3 santÊraÓa, and then 3 ahetuka kiriya, 24 kÈmÈvacara sobhana, and 11 first jhÈna cittas.





Student: I get only three not eleven.





Teacher: There are 11 first jhÈna cittas, 11 second jhÈna cittas, 11 third jhÈna cittas, 11 fourth jhÈna cittas and 23 fifth jhÈna cittas. So we get these 55. And cetasikas? Since it is to be accompanied by vitakka and vicÈra, these two must be excepted. So there are 50 cetasikas, 52 minus vitakka and vicÈra. The first sentence is not difficult, but the second and third are. 





OK. How many aggregates are there? There are only cittas and cetasikas. So how many aggregates? Four aggregates (vedanÈ, saÒÒÈ, sa~khÈra, viÒÒÈÓa).





Student: ViÒÒÈÓa also?





Teacher: Yes all four nÈma aggregates. Among the 50 cetasikas vedanÈ is vedanÈ aggregate. SaÒÒÈ is saÒÒÈ aggregate. Then the remaining 48 cetasikas are sa~khÈra aggregate. 55 cittas are viÒÒÈÓa aggregate. So there are four aggregates.





How many bases (Èyatanas) are there? Only two. 55 cittas are manÈyatana and 50 cetasikas are dhammÈyatana. 





Now elements - there are manodhÈtu, manoviÒÒÈÓadhÈtu and dhammadhÈtu. Right. PaÒcadvÈrÈvajjana and 2 sampaÔicchana are manodhÈtu. 55 minus 3, so 52 cittas are manoviÒÒÈÓadhÈtu. 50 cetasikas are dhammadhÈtu. 





Now for the Truths you have to divide 55 cittas into mundane and supramundane. How many mundane cittas are accompanied by both vitakka and vicÈra? 55 minus 8, so 47. The mundane cittas accompanied by both vitakka and vicÈra are 47. Among the cetasikas we get all except lobha. So 49 cetasikas belong to Dukkha. Altogether 47 cittas and 49 cetasikas are Dukkha. Lobha is Samudaya. There is no Nirodha. Then among the lokuttara cittas we want those that accompany first Magga. How many factors are there?





Students: Eight.





Teacher: Really? There are seven factors. Vitakka is already excepted. Right? Vitakka and vicÈra are left out of the cetasikas, so there is no vitakka. So there are seven factors accompanying 4 first jhÈna Magga cittas. 
